
LOCAL DEALER

PRODUCT COLOR WILL BE DEPEND ON THE ACTUAL SAMPLES

DC POWERED AIR-CONDITIONER

SPARE PARTS CATALOGUE

12V



01 02

DESCRIPTION:  Complete Condenser

Assembly

PART NO.: PA12001

DESCRIPTION: Condenser Cover

PART NO.: PA12002

DESCRIPTION: Complete Evaporator

Assembly

PART NO.: PA12003

DESCRIPTION: Evaporator Fan

Board Assembly

PART NO.: 014PA12

DESCRIPTION: Pipe Fixed Bracket

PART NO.: PA12005

DESCRIPTION: Evaporator Return

Air Grille (Q235 2.0)

PART NO.: 016PA12

DESCRIPTION: Liquid-gas Separator

Bracket (Q235A 2)

PART NO.: PA12006

DESCRIPTION:  Concurrent Flow

Condenser

PART NO.: 013PA12

DESCRIPTION: Evaporator Cover

PART NO.: PA12007

DESCRIPTION: Water Collector

Assembly

PART NO.: 012PA12

DESCRIPTION: Sealplate

(3A21(H12) 1.5) 

PART NO.: 011PA12

DESCRIPTION: Condenser Frame

(Q235A 2)

PART NO.: 008PA12

Product Color Will Be Depend On The Actual Samples

DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE

K08F2 Product Color Will Be Depend On The Actual Samples

DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE

K08F2

DESCRIPTION: 

PART NO.: PA12004

Fixed Plate 

DESCRIPTION: Compound

Pressure Switch (2.0 OFF/0.03OFF)

PART NO.: 015PA12

DESCRIPTION: Exhaust Hose

PART NO.: 009PA12

DESCRIPTION: Return-air Hose

PART NO.: 010PA12

DESCRIPTION: Ö8 Kuodan

Rubber Tube

PART NO.: 017PA12

DESCRIPTION: Ö10.7 Kuodan

RubbeTube 

PART NO.: 018PA12



DESCRIPTION: Duckbill Casing

PART NO.: 024PA12

DESCRIPTION: HB075Z12

Compressor

PART NO.: 023PA12

DESCRIPTION: Small Cable Ties

PART NO.: 028PA12

DESCRIPTION:

Rubber and Plastic Sponge

PART NO.       SPECIFICATION         

PA12029             130X45X3

PA12030             130X25X3

PA12031             1060X40X3

DESCRIPTION: Sponge Strip

(5600x32x20)

PART NO.: 036PA12

DESCRIPTION: Drier Filter

PART NO.: 022PA12

03 04
Product Color Will Be Depend On The Actual SamplesK08F2 Product Color Will Be Depend On The Actual Samples K08F2

DESCRIPTION: Adiabatic Rubber

PART PA12NO.: 032

DESCRIPTION: 

PART 

Fixed Plate 

NO.: 019PA12

DESCRIPTION: 

PART 

Baffle Plate 

NO.: 020PA12

DESCRIPTION: 

PART 

Wire for 

Connecting the DC Contactor

NO.: 027PA12

DESCRIPTION: Wiring Harness 

Assembly

PART NO.: 033PA12

DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE

DESCRIPTION: Filter Net

PART NO.: 026PA12

DESCRIPTION:  Duckbill

PART NO.: 034PA12
DESCRIPTION: Evaporator Coil 

Assembly

PART NO.: 035PA12

DESCRIPTION: Clip (IDN10.7)

PART NO.: 037PA12

DESCRIPTION: Clip (IDN8) 

PART NO.: 038PA12

DESCRIPTION: Backing Plate

PART NO.: 025PA12

DESCRIPTION: Evaporator Installation

Transitional Plate (Q235 2.0)

PART NO.: 021PA12



DESCRIPTION:  Pressure Union Nut

PART NO.: 044PA12

DESCRIPTION: O-ring Fittings Body

PART NO.: 043PA12

DESCRIPTION: Nut (Q235 Zinc Plating)

PART NO.: 058PA12

DESCRIPTION: Weld Nut M6

PART NO.: 052PA12

DESCRIPTION: Spring washer

PART NO.        SPECIFICATION

  GB/T93-1987 d8 (Stainless steel)

  GB/T93-1987 d4 (Stainless steel)

  GB/T93-1987 d8 (Zinc plated)

PA12049

PA12050

PA12051

DESCRIPTION: Cross Flange Hex 

Bolt (M6x20)

PART NO.: 059PA12

DESCRIPTION: Pressure Switch Base

PART NO.: 042PA12

DESCRIPTION: Flat Head Riveted Nuts

         SPECIFICATION

PA12056              LGB.F  M4

PA12057              LGB.F  M6

PART NO.

05 06
Product Color Will Be Depend On The Actual SamplesK08F2 Product Color Will Be Depend On The Actual Samples K08F2

DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE

DESCRIPTION:Charging Module

PART NO.:PA12048

DESCRIPTION: Ö8  180

Hose Coupler

PART NO.: 045PA12

DESCRIPTION: Ö8 90 Hose

Fluoridated Coupler

PART NO.: 040PA12

DESCRIPTION:  Ö8 Strait Union Hose

Fluoridated Coupler

PART NO.: 041PA12

DESCRIPTION:  Ö10.7  90 Hose

Coupler

PART NO.: 053PA12

DESCRIPTION: Ö10.7  180

Hose Coupler

PART NO.: 046PA12

DESCRIPTION: Ö90 Hose Coupler

PART NO.: 047PA12

DESCRIPTION: Ö10.7  90 Hose

Fluoridated Coupler

PART NO.: 054PA12

DESCRIPTION: Ö8 180 Hose

Fluoridated Coupler

PART NO.: 055PA12

DESCRIPTION: FY6732 Monocular

Air Outlet

PART NO.: PA12039



DESCRIPTION: Hose clamp

PART NO.         SPECIFICATION

PA12                18#

PA12                25#

060

061

DESCRIPTION: Pipe Clip

(LN209.5 TT)

PART NO.: 062PA12

DESCRIPTION: Pipe Clip

(LN212.7 TT)

PART NO.: 063PA12

DESCRIPTION: O-Rings
PART NO.     SPECIFICATION

071         Ö8X1.8

072         Ö10.8X1.8

073         Ö6.5X1.8

074         Ö10.8X2.4

075         Ö13.4X1.8

PA12
PA12
PA12
PA12
PA12

DESCRIPTION: Nyloc Nut

PART NO.   SPECIFICATION

076       M6

077       M8

PA12

PA12

DESCRIPTION: Cushion Block A

PART NO.: 084PA12

DESCRIPTION: Large Flat Head Bolt

PART NO.      SPECIFICATION

085           M6X20

086           M6X16

PA12

PA12

DESCRIPTION:
Cross Recess Head Screw
PART NO.       SPECIFICATION

087            M4X60
088            M4X16
089            M4X50

PA12
PA12
PA12

DESCRIPTION: Hex Nut

PART NO.     SPECIFICATION

067          GB6170-86 M4

068          GB6170-86 M8

PA12

PA12

DESCRIPTION:

Hexagon Clinch Nut M6

PART NO.: 069PA12

DESCRIPTION: Nylon Washer ö6

PART NO.: 083PA12

DESCRIPTION: Flat Washer
PART NO.   SPECIFICATION

079         GB/97.1-1985   ö8
080         GB/97.1-1985   ö6
081         GB/97.1-1985   ö4
082         GB/95-1985       ö6

PA12
PA12
PA12
PA12

DESCRIPTION: 

Liquid-gas Separator Assembly

PART NO.: 092PA12

DESCRIPTION: Cross Recessed Head

Tapping Screws (M4x12)

PART NO.: 078PA12

DESCRIPTION: Hose Clamp 60-80

PART NO.: 090PA12

DESCRIPTION: Connector Clip Nut

PART NO.: 091PA12

07 08
Product Color Will Be Depend On The Actual SamplesK08F2 Product Color Will Be Depend On The Actual Samples K08F2

DESCRIPTION: PVC Tube 

PART NO.: 070PA12

DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE

DESCRIPTION: Hex nut
PART NO.   SPECIFICATION
PA12064        GB5783-86 M8 60-8.8
PA12065        GB5783-86 M6 25
PA12066        GB5783-86 M8 25-8.8



DESCRIPTION: Capillary Tube 

PART NO.: PA12093

DESCRIPTION: Distributor Assembly

PART NO.: PA1295

DESCRIPTION: Connecting Pipe

Assembly

PART NO.: PA12094

DESCRIPTION: Drain Hose

PART NO.: 110PA12

DESCRIPTION: Plug 282090-1

PART NO.: 104PA12

DESCRIPTION: Plug 282108-1

PART NO.: 105PA12

DESCRIPTION: Plug 47000EV2M 

PART NO.: 112PA12

DESCRIPTION: Plug 282080-1

PART NO.: 113PA12

DESCRIPTION: Muffler Assembly

PART NO.: PA12099

DESCRIPTION: Plug 282105-1

PART NO.: 111PA12

DESCRIPTION: Bulkhead

PART NO.: 96PA120

DESCRIPTION: Aluminum Pipe

PART NO.: 97PA120

09 10
Product Color Will Be Depend On The Actual SamplesK08F2 Product Color Will Be Depend On The Actual Samples K08F2

DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE

DESCRIPTION: Radiator

PART NO.: PA12098

DESCRIPTION: One-way Fuse

(BX2011-40A)

PART NO.: PA12100

DESCRIPTION: One-way Fuse

(BX2011-30A)

PART NO.: PA12101

DESCRIPTION: CABLE TIES

PART NO.    SPECIFICATION

PA12102         2.5X100

PA12103         4X150

DESCRIPTION: 

STC-620B-A Control Pane(12V)l

PART NO.:PA12106

DESCRIPTION: Shrinkable Tube

PART NO.    SPECIFICATION

PA12107         Ö10

PA12108         Ö14

PA12109         Ö20



DESCRIPTION: Plug 282105-1

PART NO.: PA12115

DESCRIPTION:  Plug 06010EV2F 

PART NO.: PA12114

DESCRIPTION: Plug DJ7021

-9.5-21 & Male Tab DJ621-9.5 

PART NO.: PA12116

DESCRIPTION: MaleTab YN621-2.8B

PARTNO.: PA12121

DESCRIPTION: Plug DJ7021-9.5-11

& Male Tab DJ621-9.5

PART NO.: PA12120

DESCRIPTION: Male Tab YN611-2.8B

PART NO.: PA12122

DESCRIPTION: Plug EL-2Y  

PART NO.: PA12126

DESCRIPTION: Male Tab Fuse (10A)

PART NO.:PA12127

DESCRIPTION: Waterproof Bulkhead

281934-3  

PART NO.: PA12128

DESCRIPTION: 

Male Tab DJ623E-6.3B 

PART NO.: PA12118

DESCRIPTION: 

Waterproof Bulkhead Yn78

PART NO.: PA12117

DESCRIPTION: Male Tab 282110-1

PART NO.: PA12119

DESCRIPTION: Power Connector 

PART NO.: PA12123

DESCRIPTION: Male Tab 282109-1  

PART NO.: PA12124

DESCRIPTION: Male Tab Fuse Base

PART NO.: PA12130

DESCRIPTION: 

Condenser Fan (LFK116S) 

PART NO.: PA12131

DESCRIPTION: SLDC5080B-12-2200

Motor Driver

PART NO.: PA12125

11 12
Product Color Will Be Depend On The Actual SamplesK08F2 Product Color Will Be Depend On The Actual Samples K08F2

DESCRIPTION: 

Fiberglass Reinforced Pipe

PART NO.: PA12129

DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE



DESCRIPTION: RLS Relay Set

PART NO.: PA12132

DESCRIPTION: Relay (896H-1CH

-C 002 12V) 

PART NO.:PA12134

DESCRIPTION: Evaporator Fan

(RDH1238S)

PART NO.: PA12133

DESCRIPTION: Relay

(896H-1CH-C 002 24V)

PART NO.: PA12139

DESCRIPTION: Solid-state Relay

Assembly

PART NO.: PA12140

DESCRIPTION: OT Terminal (RV3.5-5)

PART NO.: PA12137

DESCRIPTION: Shrinkable Tube Ö10

PART NO.: PA12138

DESCRIPTION: Terminal 

PART NO.    SPECIFICATION

PA12141         SC16-8

PA12142         LY8-6

13 14
Product Color Will Be Depend On The Actual SamplesK08F2 Product Color Will Be Depend On The Actual Samples K08F2

DESCRIPTION: OT Terminal

PART NO.    SPECIFICATION

PA12135         RV5.5-5

PA12136         RV5.5-8

DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE DC POWERED AIR-CONDITIONER SPARE PARTS CATALOGUE

DESCRIPTION: O-ring Fittings Body

PART NO.: 44PA121

DESCRIPTION: Black cushion rubber

PART NO.  SPECIFICATION

        30

        40

        50

PA12145

PA12146

PA12147

DESCRIPTION: DC Contactor

PART NO.: PA12143


	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8

